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PC: Solving Systems of Equations Algebraically Ms. Loughran

Do Now:

1. Solve the following system of equations:
y=x+I

2x+y=-2 — %:’RX"(’;L
X4 = =X~

3= o (-% +j=l) X-y=-1
X= - 2)“379“ Iy =2
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j=n =" 3x=-2
() X=-I (-1,0)
Models: 3: =0
1 =2 3x+y=3)
. Solve the system of equations: Txt2y=1
~K-dy=- b
Koy - | (-5, 13)
X =-5
3(-6)+y=3
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Classwork:

1. Solve the system of equations algebraically by sahstitatien and then by elimination

2x—y=-1
2x+y=-7

fx=-9
x=-2

(’2/'3>

A-2)+y =-7
4y =-F

g:‘S

2. Solve the system of equations algebraically by substitetion and then by elimination:

2x+2y=3
x=4y-1




3. Solve the system of equations algebraically by sukstitution and then by elimination:
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4. Solve the system of equations algebraically by_substiséen and then by eliminat

-2 (2x—y=1 )
4x—2y=2

= - X~y =
) “ ke _ 5: whnitdy man %=y
lJ/\H l{X— ,9 _ Solvhions
B:AX_] ) =0 / mdj (;tms

Smual.f,b\v’fim: ()() 2K-1)

117" (3”5_"/ %>

&
heed X in tems oF g



5. Solve the system of equations algebraically by substitaien and then by elimination:

< f3x+2y2 )

3 Sx+7y=-4

- _ — -|D
15y - 1oy 3a0) =2

I5¢ taly =112 g
— 3 -Y=A
HB:J} 3x = b (2;—”2)
Y= "2 =2
Summary

For a system of linear equations, there can be:
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Homework 01-31
Name:__ [ ¢/J

. — - : Date:
PC: Solving Rzgxonal Equations and Inequalities Graphically. Ho’meworl:1 ’

Please answer BOTH questions showin A
N ing all necessary steps in the s S
on this sheet. It will be collected tomorrow. PR Paces provided

1. Solve the following

| v:e4q_uat_i'on. gra‘p_hically‘by doing each of the foll()wing: MM X QM Z
(2) Draw a complete graph of the function showing all intercepts and
asymptotes. PR R

~(b) Write the window settings you use on your graph; -md h)
(c) Find the solution set d"d% shrdard
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2. Solve the following rational inequality below graphically by doing the following:

(a) Draw a complete graph of the function showing all intercepts and
asymptotes.

(b) Write the window settings you use on your graph.
(c) (Optional) Using your graph, draw a number line with critical points that
shows the values of x that satisfy the inequality.
(d) State the solution set using both set builder notation and interval
notation.
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